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Please check that this question paper contains 12 printed pages and
2 pages of maps.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Time allowed : 3 hours

e (Hgr=ie)
GEOGRAPHY (Theory)
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() FIIH-TTH FA22 T |

(i) @ yeT AT &/

(iii) 97 &1 18 7 3id TG-IF0 397 8 | I&P Jo7 1 3% F1 & | JAP Jo7 BT
I 40 Iee] & 3718 787 &1 FET |

(iv) I97 G&I7 8 T 13 TY-F0T J97 8 | JI% Jo7 3 37 #1 & | JIP o7 &7
I 80-100 Y=gl & S7fes 78 &A1 T80T |

(v) I G 14 T 20 FH-3ITT 97 & | IAF J97 5 37 FH & | I 9T FT
I 150 s3] & 3718 757 &1 TR0 |

(vi) ¥¥T &1 21 4T T H1 GEEAT 79T 37% 19 lorgd & gafad 8 e
g&IT 22 s el # EfT # 39gE el @ v @ getya 8 | 3%
Y975 3% FT & |

(vii) 3T9H! 13T T fava aur URa & G-l F FTH-YdH & G T
#H |

(viii) IGI-THTE] & 3G & 1070 et a7 2Fqeigd & I791T H1 37al7 & 7l
g/

General Instructions :
(i) There are 22 questions in all.
(it)  All questions are compulsory.

(iti) Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

(iv)  Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

(v) Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

(vi)  Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

(vit) Outline maps of the World and India provided to you must be attached
within your answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.
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SECTION A
1. 39 5 &I Ig@ hHiT, e SF=wa YT o HRUT T Ja9 30 3 | 1
AYAT
T o fohd TS B ATETRET i T Ted 31feeh 2 2 1
Mention the category to which the migration due to earthquake belongs.
OR
In which State of India is the number of in-migrants the largest ?
2.  SAEHIRI AU (TS hiek) shi T&I famivar shi =men S | 1
AYAT
“rENfies ga’ veg i SRS Hif | 1
Explain the main characteristic of professional workers (White Collar).

OR
Explain the term ‘Technopole’.

3. WA H Ugl 9%t ot forEt wes & <1 A feflay | 1
arera
T o forelt Teh TS o1 AW forfae, et aftferm afeaat a8 St 8 | 1

Name any one area of hamleted settlement in India.
OR

Name any one State of India, where dispersed settlements are found.

4 o o FR iR o it B § s T B | 1
Distinguish between ‘dry land farming’ and ‘wet land farming’.

5. “HHTT TShi’ o HETT I HoATh hifaT | 1
Evaluate the significance of ‘Border Roads’.

6. ‘FaEEEE foamEw @ favemor il | 1
Analyse the ‘behavioural’ school of thought.

7.  'GgRM HN I ITANE R 2 1

What is the utility of ‘co-operative farming’ ?

Qs 9@
SECTION B
8.  “Torelt w1 o1 WIER SHEEAT H UM, 3Gk AHIH-TUS b 1 ok
BT 8 |7 38 HH T Yoo hIT | 3
“The proportion of literate population of a country is an indicator of its
socio-economic development.” Evaluate the statement.

641413 3 PTO.



9.  “Ohd TSI JHAAT < I T I AU & |7 B T Godiohd I | 1x3=3

“The Gross National Happiness is the measure of the country’s progress.”

Evaluate the statement.

10. =9 feu U M@ w1 e fifw et Ige A fer TUogwl % I
fafau . 1+1+1=3

a e

EIEUiED

C; &) = e
EREEEEID) Yy AE-3EE
\\—u-ctaé AT

(10.1) 39 Us¥ &l W fefigu e a8 <gr 9 seura g9 fooa 2
(10.2) 38 HIF & foTu el 3T g 3%k & @idi o M fafgu |
(10.3) 39 &I = for figra W enfua femem mam o, Tose hifse |



Study the diagram given below and answer the questions that follow :

Steel Plant To Bokaro
i

¢
s 8!
’, > |
16 Km ~ ﬁE
s 3 E
7
. g % Steel Plant
e ¥ .
C; ,.§ @ Limestone
Hirakud Dam M ¢ Iron-ore
\ \ st R ailway Line

(10.1) Name the State in which this iron and steel plant is located.
(10.2) Name the sources of coal and iron-ore for this plant.
(10.3)  Explain the principle on which this plant was set up.
HETfeTiad 597 &ael gIRanfaa qhernafar & g, 397 &7 10 & T [WE -
Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 10 :
qHN 3G I o foE o foiu IogrRft fhegl o1 ®weni S SmE

I | Ix3=3

Explain any three factors responsible for the development of Bokaro Steel

Plant.
11.  “wra wers fafagan S qfi g 1”7 sem i gfse i | 1x3=3
3reraT
ORd § I 3 T S9Eedl & g9ed kil fohal da-dia fomiwarett
ST hIFT | 1x3=3
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“India is a land of linguistic diversity.” Support the statement.

Explain any three characteristics each of rural and urban composition of
population in India.

12. “TH IR g % IANH 9@ Th IR "eh g, NEE SHEEAT H SRR

gfigfda gt & 1”7 e sl Imifed 38Usy | 1x3=3
HAYAT

“Urenfies wfd 9 S0 S I TeH § FERT Hi, WAk sHEed gig 3= Sl

@l 1”7 e I FRId &Sy | 3

“Apart from birth and death, migration is another way by which the
population size changes.” Justify the statement.

OR

“Technological advancement helped in the reduction of birth rate, but
population growth remained high.” Justify the statement.

13. 9 feu o umfm @1 gagrigds stemm hife o 3 A9 fiu e gt &
ST feifa 1+2=3




(13.1) gHfe 4 fe@i 18 98t i ug=m Hifu 3t 3genr am fafige |
(13.2) 39 gL <kl fopral @1 famiwarst <hl samen hifsu |

Study the map given below carefully and answer the questions that

follow :

Al
Pedro M gquel
LOCk/ /J

b
i

0 10 km ﬁ/" XX [lailway Line
C—) /

- === Limit of Canal Zone

(13.1) Identify and name the canal shown in the map.
(13.2) Explain any two features of this canal.

Fie :  Hiciad go Facr gieaTaa ghgniaal & 079, 397 &I 13 % €I W8

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 13 :

TS T8 1 Toredl i forsianati &1 wse Shif | 1x3=3

Explain any three features of Suez Canal.
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SECTION C
14. ‘gER weg 6l g fAfey | gEEm o Hew 1 9uH SIfT | 1+4=5
Define the term ‘Communication’. Describe the importance of

telecommunications.

15. GIh Usg fah™ HEhE g TR WHIfG B ad1s T8 WfHeharsti 1 9ui
HIT | Ix5=5
SrraT
TOR & fashsiiad o3 # TR sfeqai i forgl uie el auenai
Ui IR | Ix5=5

Describe the priorities which have been outlined by the United Nations
Development Programme as part of its urban strategy.

OR

Describe any five environmental problems of urban settlements in the
developing countries of the World.

16. “IaUS MR, TS o oIt yReufeh evgrRes g1 8 |7 39 %aT &l

Tergermor Shifsr | Ix5=5
aroran

“Tedia TomeHt O T A SR T STMUR ® 17 39 U 1 faveiyer
i | Ix5=5

“International trade is mutually beneficial to nations.” Analyse the

statement.

OR

“The difference in national resources is the basis of international trade.”
Analyse the statement.



17. “fopm, TH qed Hehoddl & | 9C T SR 39 U6 L foram 71 a1 aur hi
Y] AETSh-EhTdeh R TAEX T SHETST 1 g &l SN |7 39 HAT
foreeryor i | 5

“Development is a substantive concept and once it is achieved it will
address all the socio-cultural and environmental ills of the society.”
Analyse the statement.

18. T TSehl I faehtd HiH-H1 W T =l 8 2 HU=q TShi & Hewd ol

3TN Higd Tase hifvu | 1+4=5
YT

TR 3o <hl HREIFHEAT a1 Ul 9¢H o U 33T W fohedi uTe shedl

3TN Figd saTEan hifvy | Ix5=5

Which apex body develops the border roads ? Explain the importance of
border roads with examples.

OR

Explain with examples any five steps taken to increase the performance
and quality of Indian Railways.

19. YA § S bl G0 1 AT B ? T Geemor <hi feobegl o= fafirer foferm <t
32BN Afgd suEdT hIfVT | 2+3=5

Why is conservation of water essential in India ? Explain any three

different methods of water conservation with examples.

20. Iy YUV fohE TR BT B ? o1 TGNl o foheal o fire shRull <hl =amean
HITT | 2+3=5

How is air pollution harmful ? Explain any three different causes of air
pollution.

641413 9 PTO.



21. wER % fou MU qerifoss W@amtes (I8 13 W), g Himifers Aol &l A,
B, C, D 3R E ¥ fegrn mn 8 | fF=fafgd S@es i d4ee @ =1 wgon i

Jga <hIfT 3T 39k Tl 910 3 918 Eie 78 {@isti ) fafkaw . Ix5=5
A 9qQ FHgl 9T

B. TqUSIT gATE UTH

C. @ &

D. Q! YYERT &

E. &% hl gfed ¥ ARG sl Ted &1 ¢

On the given political outline map on the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
these features with the help of the following information and write their

correct names on the lines drawn on the map near them :
A. A major seaport

An international airport

A Mega city

An area of nomadic herding

S

The largest country of the continent in terms of area

Fie:  FHECTRET J97 FacT gIRETad ghefdEl & 10g, yv7 aeqr 21 & €&
WE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) 3IW IHIEHI % afeaft 9 W oo forelt wh @ 9l o= &1 9™
R |

(21.2) Afeforn & ufvendt wm 4 fodq fopelt U SFmaiindla g U &l 9™
ferfeT |

(21.3) 3ThishT & fopeft wes T fdt =1 - Tt |

(21.4) cfeft Merg o feua foret T aroramedt usemr &5 &1 9m fafew |

(21.5) Tfeaur TR § &mhal <l gfse ¥ Tad a1 ¥ hiH-91 8 ? Ix5=5



(21.1) Name any one major seaport located on the western coast of
North America.

(21.2) Name any one international airport located in the western part
of Australia.

(21.3) Name any Mega city of Africa.
(21.4) Name any one area of nomadic herding in Southern Hemisphere.

(21.5) Which is the largest country in terms of area in South America ?

22. WA % feu U UoHifos W@raEtE (98 15 W), ¥ fafafea wimfos seon
H O faegt grer + 3w el & quiize 3 39 Am fafeu Ix5=5

(22.1) TSRIA H T SHE FHG 97H

(22.2) WA 1A HEWA ol TEATH

(22.3) AT H HIFAI SFIATST TTeh
(22.4) e | TOa oigT TR 3&uTd &9
(22.5) WRA T 91ad HT WUV IcqTgH T
(22.6) G H TG HREH]

(22.7) s & feuq sfeamse i @M
(22.8) 3ITA™ % & H O T

Locate and label any five of the following geographical features on the
political outline map of India with appropriate symbols (on page 15) :

(22.1) A major seaport in Gujarat

(22.2) The Headquarter of Central Railway Zone
(22.3) Software Technology Park in Telangana
(22.4) The iron and steel plant located in Karnataka
(22.5) The leading rice producer State in India
(22.6) An oil refinery in Assam

(22.7) A mine of Bauxite in Odisha

(22.8) The leading State in the field of out-migration

64/4/3, 11 P.T.O.
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Fie:  FHECTRET 397 Fac GIRETEd ghgniaan & o/, J97 G&I7 22 & T T/
& | =gt uier 71 3 3 forfem |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) 7RG ¥ feod wq@ Tl 9o w1 9w fafau |

(22.2) T2 I HSA H1 GEATTT Hal 12Id B ?

(22.3) @I H fEd et SISt qreh ol 4 faRaw |

(22.4) e B fooa foreft ua oArar 9 seura w9 &1 9 foflgu |

(22.5) WRA U 3Uft =Tael IcdTeeh s i AW faIRau |

(22.6) 299 ¥ fedra foreft wep dorene @™ 1 9 faReaw |

(22.7) 3nfesn ¥ feuq sfedmge il @H 1 99 fdfaw |

(22.8) 3T oh &F H UM T w1 AW fAfay | Ix5=5

(22.1) Name the major seaport located in Gujarat.

(22.2) Where is the Headquarter of Central Railway Zone located ?
(22.3) Name the Software Technology Park located in Telangana.
(22.4) Name any one iron and steel plant located in Karnataka.
(22.5) Name the leading rice producer State in India.

(22.6) Name any oil refinery located in Assam.

(22.7) Name the Bauxite mine located in Odisha.

(22.8) Name the leading State in the field of out-migration.
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For question no. 21

"TVOLLI'TOd-d'TdOM

P.T.O.




=]



0] g (]
I H. 22 & foiw For question no. 22
A T T@T-AE A (TSTHITR)
Outline Map of India (Political)
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